

Emmanuel Fritile Obengali

19/11/2021

MBBS

Math 102

$$\textcircled{1} \int \frac{2x}{\sqrt{4x^2-1}} dx$$

$$\text{Let } u = \sqrt{4x^2-1}$$

$$= (4x^2-1)^{1/2}$$

$$d^+u/dx = \frac{1}{2}(4x^2-1)^{-1/2} \cdot 8x$$

$$d^+u/dx = 4x(4x^2-1)^{-1/2}$$

$$dx = \frac{d^+u}{4x(4x^2-1)^{1/2}}$$

$$= \frac{(4x^2-1)^{1/2}}{4x} du$$

$$4x$$

$$2 \int \frac{x}{u} dx = 2 \int \frac{x}{(4x^2-1)^{1/2}} \cdot \frac{(4x^2-1)^{1/2}}{4x} du$$

$$= \frac{1}{2} \int du$$

$$\int \frac{2x \cdot dx}{\sqrt{4x^2-1}} = \frac{1}{2} u + c = \frac{1}{2} \sqrt{4x^2-1} + c$$

$$\textcircled{2} \int \frac{\sin^{-1} x}{1-x^2} dx$$

$$\int \sin^{-1} x \cdot (1-x^2)^{-1/2} dx$$

$$\text{Let } u = \sin^{-1} x$$

$$du = (1-x^2)^{-1/2} dx$$

$$\int u du = \frac{u^2}{2} + c$$

$$\int \frac{\sin^{-1} x}{\sqrt{1-x^2}} dx =$$

$$\frac{(\sin^{-1} x)^2}{2} + c$$

2

$$3) (\tan x)^6 \sec^2 x dx$$

$$\text{Let } u = \tan x$$

$$du = \sec^2 x dx$$

$$\int u^6 du = \frac{u^7}{7} + c$$

$$\int (\tan x)^6 \sec^2 x dx = \frac{(\tan x)^7}{7} + c$$